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QUESTION 1

Which of the following functions is NOT controlled by the hypothalamus? 

A. Hunger 

B. Thirst 

C. Sex drive 

D. Blood pressure 

E. Balance 

Correct Answer: E 

With the exception of the balance, all of the following are controlled by the hypothalamus. Balance is controlled by the
cerebellum. 

 

QUESTION 2

Organisms that utilize solar energy to exist are called: 

A. Apotrophic 

B. Autotrophic 

C. Heterotrophic 

D. Chemotrophic 

E. Mixotrophic 

Correct Answer: B 

Autotrophic organisms use sunlight as a source of energy (ex. plants). It is recommended one knows the basic definition
of autotrophic, heterotrophic, chemotrophic etc. and examples of each. 

 

QUESTION 3

Juliet gets 78, 84, 98, 94 on her first 4 genetics exam. What grade must she receive on her final and fifth exam, in order
to attain a \\'A\\' in the class? 

A. 92 

B. 93 

C. 94 

D. 95 
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E. 96 

Correct Answer: E 

Make this an algebra type problem as you find the averages of the exam scores to total 450. (Because 450/500 is 90%
= A) 78 + 84 + 98 + 94 + x = 450 

Solving for x: 354 + x = 450 x = 96 

 

QUESTION 4

Which of the following represents the most accurate passageway for air in humans? 

A. Mouth –andgt; Pharynx –andgt; Trachea –andgt; Bronchi –andgt; Bronchioles –andgt; Alveoli 

B. Mouth –andgt; Pharynx –andgt; Alveoli –andgt; Bronchi –andgt; Bronchioles 

C. Mouth –andgt; Esophagus –andgt; Bronchi –andgt; Bronchioles –andgt; Alveoli 

D. Mouth –andgt; Pharynx –andgt; Larynx –andgt; Esophagus –andgt; Alveoli –andgt; Bronchi 

E. Mouth –andgt; Alveoli –andgt; Bronchi –andgt; Trachea 

Correct Answer: A 

This is the most correct answer choice. 

 

QUESTION 5

Identify the missing reagent in the reaction below: 

A. 1) BH3, THF; 2) H2O2, OH 

B. CH2N2, Heat 

C. Cl2, CCl4 

D. 1) OsO4; 2) NaHSO3 

E. 1) O3; 2) Zn, H2O 

Correct Answer: C 
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